
Name: Answer KeyMultiple Addends Word Problems

Math www.CommonCoreSheets.com
1-10 90 80 70 60 50 40 30 20 10 0

Answers

1. 1,951

2. 1,042

3. 2,046

4. 1,630

5. 1,780

6. 1,176

7. 1,882

8. 1,882

9. 2,239

10. 1,977

Solve each problem.

1) An apple orchard was split into three sections. The first had 655 trees, the second had 770
and the last had 526. How many trees were there total in the orchard?

2) At the bank, a customer turned in 248 dimes, 425 nickels and 369 quarters. What is the
total number of coins the customer turned in?

3) A zoologist was checking the weights of three gorillas. Gorilla A weighed 580 pounds,
gorilla B weighed 919 pounds and gorilla C weighed 547 pounds. What is the combined
weight of all three gorillas?

4) For her birthday Tiffany received 264 dollars from her friends and another 389 dollars
from her family. If she already had 977 dollars, how much money would Tiffany have
total?

5) For a new year's party 644 red balloons, 832 green balloons and 304 white balloons were
used. What is the total number of balloons used?

6) A chef was buying different soups. She bought 123 cans of chicken soup, 261 cans of
mushroom soup and 792 cans of tomato soup. How many can of soup did she buy all
together?

7) In one year a photographer took 388 pictures of animals, 731 pictures of people and 763
pictures of landscapes. How many pictures did he take total?

8) In one month a furniture store sold 418 plastic chairs, 704 wooden chairs and 760 metal
chairs. How many chairs did they sell total?

9) Sarah was preparing for a marathon. In the morning she jogged 885 meters, in the
afternoon she jogged another 870 meters and that night she jogged 484 meters. How many
meters did she jog total?

10) While building a house, an architect used 879 nails on the first floor, 365 on the second
and 733 on the third floor. How many nails did he use on all three floors?
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Solve each problem.

1,882 1,780 2,046 1,630 1,951

1,882 2,239 1,176 1,977 1,042

1) An apple orchard was split into three sections. The first had 655 trees, the second had 770
and the last had 526. How many trees were there total in the orchard?

2) At the bank, a customer turned in 248 dimes, 425 nickels and 369 quarters. What is the
total number of coins the customer turned in?

3) A zoologist was checking the weights of three gorillas. Gorilla A weighed 580 pounds,
gorilla B weighed 919 pounds and gorilla C weighed 547 pounds. What is the combined
weight of all three gorillas?

4) For her birthday Tiffany received 264 dollars from her friends and another 389 dollars
from her family. If she already had 977 dollars, how much money would Tiffany have
total?

5) For a new year's party 644 red balloons, 832 green balloons and 304 white balloons were
used. What is the total number of balloons used?

6) A chef was buying different soups. She bought 123 cans of chicken soup, 261 cans of
mushroom soup and 792 cans of tomato soup. How many can of soup did she buy all
together?

7) In one year a photographer took 388 pictures of animals, 731 pictures of people and 763
pictures of landscapes. How many pictures did he take total?

8) In one month a furniture store sold 418 plastic chairs, 704 wooden chairs and 760 metal
chairs. How many chairs did they sell total?

9) Sarah was preparing for a marathon. In the morning she jogged 885 meters, in the
afternoon she jogged another 870 meters and that night she jogged 484 meters. How many
meters did she jog total?

10) While building a house, an architect used 879 nails on the first floor, 365 on the second
and 733 on the third floor. How many nails did he use on all three floors?
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